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

1. “”



a)  b) 

c)  d) 

e) 

2. “”“”

a)  b) 

c)  d) 

e) 

3. 

A)   

B)   

C)   

D)   

A B C D A B C D

a) 2 4 3 1 b) 2 3 4 1

c) 2 3 1 4 d) 2 4 1 3

e) 

4. “”



a)  b) 

c)  d) 

e) 

5. “”



a)  b) 

c)  d) 

e) 
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6. 
A) Pen drive  

B) Document  

C) Folder  

A B C A B C

a) 2 3 1 b) 2 1 3

c) 3 1 2 d) 1 2 3

e) 

7. “”

a)  b) 

c)  d) 

e) 

8. 

a)  b) 

c)  d) 

e) 

9. “”(SITARA)

a)  b) 

c)  d) 

e) 

10. “”



a)  b) 

c)  d) 

e) 

11. 

a) 

b) 

c) 

d) 

e) 

12.      



a)  b) 

c)  d) 

e) 
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13. 

a)  b) 
c)  d) 
e) 

14. “”‘’
a)  b) 
c)  d) 
e) 

15. “”
a)  b) 
c)  d) 
e) 

16. ‘’
a)  b) 
c)  d) 
e) 

17. 
 
 
 
a)  b) 
c)  d) 
e) 

18. 
A)   
B)   
C)   
D)   

A B C D A B C D
a) 1 2 3 4 b) 2 1 3 4
c) 2 1 4 3 d) 1 2 3 4
e) 

19. ‘’
a) 11 b) 12 c) 13
d) 17 e) 

20. “”
a)  b) 
c)  d) 
e) 
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21. 

a)  b) 

c)  d) 

e) 

22. 

A)   

B)   

C)   

D)   

A B C D A B C D

a) 2 3 4 1 b) 2 4 1 3

c) 4 2 3 1 d) 3 2 4 1

e) 

23. 

a)  b) 

c)  d) 

e) 

24. ‘’

a)  b) 

c)  d) 

e) 

25. “”



a) 2014 b) 2016 c) 2013

d) 2011 e) 

26. 

a)  b) 

c)  d) 

e) 

27. 

a)  b) 

c)  d) 

e) 

28. 

a)  b) 

c)  d) 
e) 
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29. 
A)   
B)   
C)   
D)   

A B C D A B C D
a) 4 1 2 3 b) 4 2 1 3
c) 3 1 2 4 d) 3 2 1 4
e) 

30. 
a)  b) 
c)  d) 
e) 

31. 
a)  b) 
c)  d) 
e) 

32. “
”
a)  b) 
c)  d) 
e) 

33. 
 
 
 

a)  b) 
c)  d) 
e) 

34. 


a)  b) 
c)  d) 
e) 

35. 

a)  b) 
c)  d) 
e) 
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36. “

”

a)  b) 

c)  d) 

e) 

37. “”

a)  b) 

c)  d) 

e) 

38. 



‘’



a)  b) 

c)  d) 

e) 

39. “”

a)  b) 

c)  d) 

e) 

40. “”

a)  b) 

c)  d) 

e) 

41. 

a) 872 b) 782 c) 354

d) 534 e) 

42. 

A)   

B)   

C)   

D)   

A B C D A B C D

a) 1 4 2 3 b) 2 1 3 4

c) 3 1 4 2 d) 4 2 3 1

e) 
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43. 
a) 

b) 

c) 

d) 

e) 

44. 





a)  b) 

c)  d) 

e) 

45.       



a)  b) 

c)  d) 

e) 

46. “”

a)  b) 

c)  d) 

e) 

47. 

a) 1932-1975 b) 1924-1965

c) 1930-1973 d) 1926-1967

e) 

48. 

A)   

B)   

C)   

D)   

A B C D A B C D

a) 2 1 4 3 b) 2 1 3 4

c) 2 3 4 1 d) 2 4 3 1

e) 



8 THOOTHUKUDI  99445 11344  |  TIRUNELVELI  98942 41422  |  RAMANATHAPURAM  75503 52916  |  MADURAI  98431 10566

49. 

a) 

b) 

c) 

d) 

e) 
50. 

a)  b) 
c)  d) a b
e) 

51. ‘’
a)  b) 
c)  d) 
e) 

52. 
a)  b) 
c)  d) 
e) 

53. ‘’
a)  b) 
c)  d) 
e) 

54. 

a)  b) 
c)  d) 
e) 

55. 
a)  b)  c) 
d)  e) 

56. 
a)  b) 
c)  d) 
e) 

57. 
a)  b) 
c)  d) 
e) 
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58. 
a)  b) 
c)  d) 
e) 

59. ‘’
a)  b) 
c)  d) 
e) 

60. ‘
’
a)  b) 
c)  d) 
e) 

61. ‘Browser’ 
a)  b) 
c)  d) a b
e) 

62. 

A)  
1

64

B)  
1

16

C)  
1

80

D)  
1

8

A B C D A B C D
a) 2 3 4 1 b) 2 4 3 1
c) 3 2 4 1 d) 3 2 1 4
e) 

63. 
a)  b)  c) 
d)  e) 

64. 

a)  b) 
c)  d) 
e) 
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65. “”
a)  b) 

c)  d) 

e) 

66. “”

a)  20 b) 

c)  d) 

e) 

67.       







a)  b) 

c)  d) 

e) 

68. 

a)  b) 

c)  d) 

e) 

69.       



a) 1973 b) 1971 c) 1978

d) 1976 e) 

70. ‘’

a)  b) 

c)  d) 

e) 

71. 

a) ‘’

b) 

c) 

d) 

e) 

72. 

a)  b) 

c)  d) 

e) 
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73. 
A)   
B)   
C)   
D)   

A B C D A B C D
a) 2 1 4 3 b) 2 3 1 4
c) 1 2 4 3 d) 1 2 3 4
e) 

74. “”
a)  b) 
c)  d) 
e) 

75. “
”
a)  b) 
c)  d) 
e) 

76. 
a)  b) 
c)  d) 
e) 

77. 
a)  b) 
c)  d) 
e) 

78. 
a)  b) 
c)  d) 
e) 

79.  

a)  b) 
c)  d) 
e) 

80. 

a)  b) 
c)  d) 
e) 
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81. ‘’
a)  b) 
c)  d) 
e) 

82. 
a)  b) 
c)  d) 
e) 

83. ‘’
a)  b) 
c)  d) a b
e) 

84. 
a) 1914 b) 1924 c) 1904
d) 1934 e) 

85. “”
a)  b) 
c)  d) 
e) 

86. 
a)  b) 
c)  d) 
e) 

87. 
a)  b) 
c)  d) 
e) 

88. 
a)  b) 
c)  d) 
e) 

89. 
A)   
B)   
C)   
D)   

A B C D A B C D
a) 2 1 3 4 b) 1 2 3 4
c) 1 3 2 4 d) 3 1 2 4
e) 
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90. 
a) 1930 b) 1938 c) 1948
d) 1952 e) 

91. 
A)   
B)   
C)   
D)   

A B C D A B C D
a) 2 3 4 1 b) 3 2 4 1
c) 3 4 2 1 d) 3 4 1 2
e) 

92. 
a)  b) 
c)  d) 
e) 

93. 

a) 11 b) 16 c) 17 d) 19
e) 

94. “”
a)  b) 
c)  d) 
e) 

95. ‘’
a)  b) 
c)  d) 
e) 

96. 
a) 2005 b) 2009 c) 2010
d) 2007 e) 

97. ‘’
a)  b) 
c)  d) 
e) 

98. 
a) 1836, 1935 b) 1863, 1935
c) 1863, 1938 d) 1836, 1953
e) 
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99. 
a)  b) 
c)  d) 
e) 

100. “”
a)  b) 
c)  d) 
e) 

101. The length of a rectangle is 18cm and its breadth is 10cm.When the
length is increased to 25cm, what will be the breadth of the rectangle

if the area remains the same? ( in cm)


 

a) 7 b) 7.1 c) 7.2
d) 7.3 e) Answer not known / 

102. The ratio between the length and the perimeter of a rectangular  plot

is 1:3. What is the ratio between the length and breadth of the plot?



a)  1 : 2 b) 2: 1 c) 3: 2
d) Data inadequate/
e) Answer not known / 

103. The side of a square is 10 cm. If its side is tripled, then by how many

times will its perimeter increase?



a) 3 b) 4 c) 5
d) 6 e) Answer not known / 

104. If the diagonal of a square is made 1.5 times, then the ratio of the

areas of two squares is :



a) 4 : 3 b) 4: 5 c) 4 : 7
d) 4 : 9 e) Answer not known / 

105. Each side of a rhombus is 26cm and one of its diagonals is 48cm long.

The area of the rhombus is : ( in cm2)



a) 240 b) 300 c) 360
d) 480 e) Answer not known / 

Aptitude (25)
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106. Find the diameter of a wheel that makes 113 revolutions to go 2 km 26

decametres.( in m )




a)
4

4
13

b)
4

6
11

c)
4

12
11

d)
8

12
11

e) Answer not known / 

107. If the radius of a circle is diminished by 10% then its area is dimin-

ished by



a) 10% b) 19% c) 20%

d) 36% e) Answer not known / 

108. The area of a field in the shape of trapezium measures 1440 m2.

The prependicular distance between its parallel sides is 24m. If the

ratio of the parallel sides is 5:3, the length of the longer parallel side

is ( in m)

 
 


a) 45 b) 60 c) 75

d) 120 e) Answer not known / 

109. One side of a right -angled triangle is twice the other, and the hypot-

enuse is 10cm. The area of the triangle is : (in cm2)


 (hypotenuse)

a) 20 b)
1

33
3

c) 40

d) 50 e) Answer not known / 

110. If the perimeter of an isosceles right triangle is  6+3 2 m, then the

area is ( in m2 )

  6+3 2 

a) 4.5 b) 5.4 c) 9

d) 81 e) Answer not known / 
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111. A parallelogram has sides 30m and 14 m and one of its diagonals is

40m long. Then, its area is: ( in m2)



a) 168 b) 336 c) 372
d) 480 e) Answer not known / 

112. A man runs round a circular field of radius 50m at the speed of 12km/

hr. What is the time taken by the man to take twenty rounds of the

field?

a) 30min. b) 32min. c) 34 min.
d) 31 min e) Answer not known / 


a) 30  b) 32  c) 34 
d)  e) Answer not known / 

113. One of the sides and the corresponding height of the parallelogram are

12 m and 8 m respectively. Find the area of the parallelogram.(cm2)



a) 84 b) 96 c) 98
d) 94 e) Answer not known / 

114. Find the height of the parallelogram whose base is four times the

height and whose area is 576 sq. cm. (cm)



a) 14 b) 15 c) 10
d) 12 e) Answer not known / 

115. What happens to the area of the parallelogram, if the base is increased

2 times and the height is halved?



a) increase by 2 times/
b) increase by 4 times/ 
c) decrease by 2 times/
d) no change/
e) Answer not known / 

116. The collar of a shirt is in the form of isosceles trapezium whose par-

allel sides are 17 cm and 14 cm and the distance between them is 4

cm. Find the area of canvas that will be used to stitch the collar.  (cm2)

        


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a) 14 b) 62 c) 26
d) 84 e) Answer not known / 

117. One of the diagonals of a rhombus is thrice as the other. If the sum of
the length of the diagonals is 24 cm, then find the area of the rhombus.

(cm)

       


a) 26 b) 58 c) 54
d) 36 e) Answer not known / 

118. Find the perimeter and area of semicircles whose diameters are, 56

cm. (cm, cm2)





a) 145, 1200 b) 144, 1232 c) 130, 1402

d) 140, 1506 e) Answer not known / 

119. A sector of radius 4.2 cm has an area 9.24 cm2. Find its perimeter. (cm)





a) 10.8 b) 12.8 c) 14.8
d) 11.8 e) Answer not known / 

120. A goat is tethered with a rope of length 45 m at the centre of the

circular grass land whose radius is 52 m. Find the area of the grass

land that the goat cannot graze. (m2)







a) 2224 b) 2244 c) 2134
d) 2114 e) Answer not known / 

121. Circumference of a circle is always

a) three times of its diameter
b) more than three times of its diameter

c) less than three times of its diameter
d) three times of its radius
e) Answer not known
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

a) 

b) 

c) 

d) 

e) 

122. A park is circular in shape.  The central portion has playthings for kids

surrounded by a circular walking pathway.  Find the walking area whose

outer radius is 10 m and inner radius is 3m. (m2)



  





a) 276 b) 286 c) 246

d) 256 e) Answer not known / 

123. An isosceles triangle with equal sides 10 cm each and third side is 7

cm. Find its perimeter (cm)





a) 27 b) 28 c) 29

d) 30 e) Answer not known / 

124. A picture of length 23 cm and breadth 11 cm is painted on a chart, such

that there is a margin of 3 cm along each of its sides.  Find the total

area of the margin. (cm2)







a) 154 b) 158 c) 162

d) 168 e) Answer not known / 

125. A floor is 10 m long and 8 m wide. A carpet of size 7 m long and 5 m

wide is laid on the floor.  Find the area of the floor that is not covered

by the carpet. (m2)







a) 35 b) 45 c) 50
d) 75 e) Answer not known / 
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126. The position of Earth nearest from the Sun is termed as

a) Perihelion b) Aphelion
c) Solstice d) Equinox
e) Answer not known

a)  b) 
c)  d) 
e) 

127. Which of the following peak in Himalayan Mountain that located in

Nepal?

a) Namcha barwatha b) Kamet
c) Annapurna d) Nanga parvat
e) Answer not known

a)  b) 
c)  d) 
e) 

128. In which hill is the killiyur waterfall located?

a) Shervaroy b) Nilgris
c) Kodaikanal d) Agathiyar
e) Answer not known


a)  b) 
c)  d) 
e) 

129. Which is the largest tributary of the Indus?

a) Jhelum b) Chenab
c) Ravi d) Beas
e) Answer not known


a)  b) 
c)  d) 
e) 

130. Total geographical area of Tamil Nadu is

a) 1,30,955 sq.km b) 1,30,058 sq.km
c) 1,28,055 sq.km d) 1,40,033 sq.km
e) Answer not known

General Studies (75)
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
a)  b) 

c)  d) 

e) 

131. In which state the Simlipal Biosphere Reserve is located?

a) West Bengal b) Tamilnadu

c) Himachal Pradesh d) Odisha

e) Answer not known



a)  b) 

c)  d) 

e) 

132. Which soil is composed mainly of hydrated oxides of iron and aluminium?

a) Alluvial Soil b) Red soil

c) Laterite soil d) Black soil

e) Answer not known



a)  b) 

c)  d) 

e) 

133. Which of the following is called the Ganga of South India?

a) Pennar b) The Kaveri

c) The Tamiraparani d) The Palar

e) Answer not known



a)  b) 

c)  d) 

e) 

134. Match the following

A. Tiger project 1. 1962

B. Project Elephant 2. 1973

C. Mudanthurai Wildlife Santuary 3. 1988

D. Vedanthangal Birds Sanctuary 4. 1998
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

A.   
B.   

C.   

D.   

A B C D A B C D

a) 3 1 2 4 b) 2 3 4 1

c) 3 1 4 2 d) 2 1 4 3

e) Answer not known / 

135. Crops that suitable for Alluvial Soil

a) Cotton, Millets, Sugarcane b) Cotton, Sugarcane, Wheat

c) Coffee, Rubber, Cashew d) Rice, Wheat, Sugarcane

e) Answer not known



a)  b) 

c)  d) 

e) 

136. Tata iron and steel industry set up at ______

a) Jamshedpur - Jharkhand - 1911 b) Bhillai - Chattisgarh - 1923

c) Jamshedpur - Jharkhand - 1923 d) Begara - Jharkhand - 1911

e) Answer not known



a)  b) 

c)  d) 

e) 

137. The Bhopal gas tragedy happened in ________



a) 1985 b) 1982 c) 1984 d) 1983

e) Answer not known /

138. In which year NALCO was established?



a) 1981 b) 1891 c) 1931 d) 1961

e) Answer not known / 
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139. Pick out the effect that is not related to the impacts of Earthquake?

a) Splits b) Collapse

c) Tsunamis d) Depression Zone Formation

e) Answer not known

a)  b) 
c)  d) 
e) 

140. The Tropic of Capricon lies at ______

______

a) 23
o1

2
 South /  b) 66

o1
2

 S / 

c) 90o S /  d) 23
o1

2
N / 

e) Answer not known / 
141. In Andhra Pradesh, the shifting cultivation is known as ________

a) Bewar b) Ponam

c) Podu d) Jhum

e) Answer not known



a)  b) 

c)  d) 

e) 

142. Which type of farming that is practised in Banks of River Cauvery and

Thenpennai?

a) Plantation Agriculture b) Mixed Farming

c) Subsistence Intensive Farming d) Primitive Farming

e) Answer not known



a)  b) 

c)  d) 

e) 

143. The detroit of Asia is

a) Coimbatore b) Madurai

c) Kancheepuram d) Chennai

e) Answer not known
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
a)  b) 

c)  d) 

e) 

144. The gas that is predominantly found in Atmosphere

a) Nitrogen b) Oxygen

c) Argon d) Helium

e) Answer not known



a)  b) 

c)  d) 

e) 

145. The Palk strait and gulf of Mannar separates India from ______

a) Goa b) West Bengal

c) Srilanka d) Maldives

e) Answer not known

______

a)  b) 

c)  d) 

e) 

146. In India, Van Mahotsav or Forest festival is celebrated from

a) July 1 - July 7 b) July 2 - July 3

c) July 1 - July 8 d) July 1 - July 6

e) Answer not known



a)  b) 

c)  d) 

e) 

147. Which is known as the Electricity capital of India?

a) Kanpur b) Delhi

c) Bengaluru d) Madurai

e) Answer not known



a)  b) 

c)  d) 

e) 
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148. Pick out the following pair which is wrongly matched

a) Magnetite - Karnataka
b) Zirconium - Kerala
c) Tungsten - Rajasthan
d) Bauxite - Nagaland
e) Answer not known

a)   
b)   
c)   
d)   
e) 

149. What is the ranking of Tamilnadu in Silk Textile Production in the

country?


a) 1 b) 2 c) 3 d) 4
e) Answer not known / 

150. During sunset cirrus clouds look colourful hence they are called as

a) Mare’s tails b) Wispy cloud
c) A tuft of bird d) Mushroom cloud
e) Answer not known
______



a)  b) 
c)  d) 
e) 

151. Which is the shortest National Highway in Tamilnadu?

______

a) NH 478 b) NH 118
c) NH 785 d) NH 548
e) Answer not known / 

152. Which is called as “Sorrow of Bihar”?

a) The Mahanadi b) The Kosi
c) The Sampal d) The Damodar
e) Answer not known

a)  b) 
c)  d) 
e) 
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153. Which Union Ministry launched the “Koyla Darpan” Portal?

a) Ministry of Steel b) Ministry of Coal
c) Ministry of Power d) Ministry of Rural Development
e) Answer not known
“”
a)  b) 
c)  d) 
e) 

154. Which states has no railway Network?

a) Arunachal Pradesh b) Tripura
c) Mehalaya d) Nagaland
e) Answer not known

a)  b) 
c)  d) 
e) 

155. World population day was observed in

a) July 11 b) July 12
c) July 15 d) July 13
e) Answer not known

a)  b) 
c)  d) 
e) 

156. Match the following

Planets No.of Satellite

a) Uranus 1. 2
b) Saturn 2. 13
c) Neptune 3. 27
d) Mars 4. 83


 
a)   
b)   
c)   
d)   

A B C D A B C D
a) 2 1 4 3 b) 4 3 2 1
c) 4 3 1 2 d) 3 4 2 1
e) Answer not known / 
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157. Which of the following state has highest literacy rate in India?

a) Kerala b) Mizoram
c) Tripura d) Tamilnadu
e) Answer not known

a)  b) 
c)  d) 
e) 

158. The difference between the value of exports and imports is called a

a) Balance of Trade b) Income of a country
c) Product of a country d) None of these
e) Answer not known
______

a)  b) 
c)  d) 
e) 

159. Which of the following districts in Tamilnadu is drought prone area

a) Pudukottai b) Sivagangai
c) Villupuram d) All the above
e) Answer not known

a)  b) 
c)  d) 
e) 

160. Choose the correct statement about “Physical weathering”

1. It is caused by the change in Temperature, pressure, water and

wind.

2. It is categorized into thermal weathering, forest wedging and

exploitation

a) 1 only b) 2 only
c) Both 1 and 2 d) None of these
e) Answer not known

        


         


a)  b) 
c)  d) 
e) 
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161. Which is the only country that has reached to the mars in its first

attempt

a) China b) Japan
c) Russia d) India

e) Answer not known



a)  b) 

c)  d) 

e) 

162. Arrange the following peaks in western ghats in the descending order

of their heights.

1. Perumal malai 2. Doddabetta

3. Pagasura 4. Kottaimalai

5. Vembadi Solai





   

   

 

a) 2, 1, 5, 3, 4 b) 2, 5, 1, 3, 4

c) 2, 5, 1, 4, 3 d) 1, 2, 3, 4, 5

e) Answer not known / 

163. Which is the oldest continously inhabited city in the world?

a) Kaliba b) Tokyo

c) Damacus d) Alepo

e) Answer not known



a)  b) 

c)  d) 

e) 

164. The word Lithosphere is derived from

a) Latin b) French

c) Greek d) Arabic

e) Answer not known



a)  b) 

c)  d) 

e) 



28 THOOTHUKUDI  99445 11344  |  TIRUNELVELI  98942 41422  |  RAMANATHAPURAM  75503 52916  |  MADURAI  98431 10566

165. Which of the following river is west flowing rivers?

a) Mahanadi & Narmada b) Tapti & Godavari
c) Krishna & Kaveri d) Tapti & Narmada
e) Answer not known


a)  b) 

c)  d) 

e) 

166. The National Remote sensing centres is located in?

a) Bengaluru b) Chennai

c) Delhi d) Hyderabad

e) Answer not known



a)  b) 

c)  d) 

e) 

167. Identify the concept which is not associated with the origin of Indian

monsoon?

a) Thermal concept b) Aerological concept

c) Westerlies concept d) Flohn’s concept

e) Answer not known





a)  b) 

c)  d) 

e) 

168. In 2021, which space craft was engraved by a photo of prime minister

Narendra Modi on the top panel in Sriharikota?





a) ISRO PSLV C - 51 b) ISRO PSLV C - 52

c) ISRO PSLV C - 54 d) ISRO PSLV C - 55

e) Answer not known / 

169. Annual rainfall in the area of a Tropical decidious forest?

a) 100cm - 200cm b) above 200cm

c) 50cm - 100 cm d) 500cm - 750 cm

e) Answer not known
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

a)  b) 

c)  d) 

e) 

170. The outer Himalayas is known as _______

a) The Himadri b) The Himachal

c) The Siwaliks d) Trans Himalaya

e) Answer not known



a)  b) 

c)  d) 

e) 

171. Which is made up of frozen lumps of rocks, dust and gas?

a) Galaxy b) Comets

c) Meteors d) Asteroids

e) Answer not known



a)  b) 

c)  d) 

e) 

172. In India, Tamilnadu lies in which seismic zone in earthquake prone

zones

a) Zone 2 b) Zone 3 c) Zone 5 d) Zone 4

e) Answer not known



a)  b) 

c)  d) 

e) 

173. Match the following

A. Brown Revolution 1. Prawn production

B. Silver Fibre Revolution 2. Meat production

C. Pink revolution 3. Fertilizers

D. Red Revolution 4. Cocoa

E. Grey Revolution 5. Cotton
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
A.   
B.   
C.   

D.   

E.   

A B C D E A B C D E

a) 4 3 1 5 2 b) 4 3 5 1 2

c) 3 4 5 1 2 d) 3 4 1 2 5

e) Answer not known / 

174. The Utkal plain is found in ______ state

a) Andhra Pradesh b) Mumbai

c) Odissa d) Uttar Pradesh

e) Answer not known

______ 

a)  b) 

c)  d) 

e) 

175. Rabiseason is also knowns as ______ in Tamilnadu?

a) Sornavarai b) Navarai

c) Samba d) All of the above

e) Answer not known



a)  b) 

c)  d) 

e) 

176. India’s Central Meridian Passes through

a) Ahmedabad b) Mirzapur

c) Greenwich d) Gujarat

e) Answer not known

______

a)  b) 

c)  d) 

e) 
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177. Assertion (A): Monsoons are a complex meterological phemenon
Reason (R): Meterologists have developed a number of concept about

the origin of monsoons.

a) Both A and R are True: R explains A

b) Both A and R are True: R does not expalin A

c) A is correct R is False

d) A is False R is True

e) Answer not known

 (A)

(R)



a) A R 

b) A R 

c) 

d) 

e) 

178. The longest Ropeway in India over the river of _______

a) Brahmaputra b) Mahanadi

c) Ganga d) Godavari

e) Answer not known



a)  b) 

c)  d) 

e) 

179. Which of country occupies second place in Rice cultivation?

a) China b) Philliphines

c) India d) Mexico

e) Answer not known



a)  b) 

c)  d) 

e) 

180. Match the following

A. Bomdila pass 1. Sikkim

B. Nathula and Jhelepla pass 2. Jammu & Kashmir

C. Shipkila pass 3. Arunachal Pradesh

D. Karakoram pass 4. Himachal Pradesh
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
A.   
B.   
C.   
D.   

A B C D A B C D
a) 3 4 1 2 b) 2 4 1 3
c) 3 2 4 1 d) 1 2 3 4
e) Answer not known / 

181. Which mineral is known as Fool’s gold”?

a) Magnetite b) Quartz
c) Pyrite d) Fluorite
e) Answer not known

a)  b) 
c)  d) 
e) 

182. The movement of the earth on its axis is called

a) Revolution b) Seasons
c) Rotation d) Circulation
e) Answer not known

a)  b) 
c)  d) 
e) 

183. Equal atmosphere pressure ______

a) Isohels b) Isocryme
c) Isohyte d) Isobar
e) Answer not known
 ______

a)  b) 
c)  d) 
e) 

184. Match the following

Minerals Carbon
A. Peat 1. 70 - 90%
B. Brown coal 2. 95%
C. Cooking coal 3. 35 - 45%
D. Anthracite 4. 30 - 35%
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
 

A.   
B.   
C.   
D.   

A B C D A B C D
a) 4 3 1 2 b) 4 1 3 2
c) 4 3 2 1 d) 3 4 1 2

e) Answer not known / 

185. Pick out the following which is not comes under Biosphere reserve?

a) Gulf of Mannar b) Nilgiri

c) Megamalai d) Agasthiyar malai

e) Answer not known



a)  b) 

c)  d) 

e) 

186. Which is the highest gravity dam in India?

a) Hirakud dam b) Bhakra Nangal dam

c) Mettur dam d) Nagarjuna Sagar dam

e) Answer not known



a)  b) 

c)  d) 

e) 

187. International year of millets

______

a) 2023 b) 2018 c) 2025 d) 2016

e) Answer not known / 

188. Third generationof computer is ______

a) Microprocessor b) Integrated circuit

c) Vaccum tubes d) Transistor

e) Answer not known

______

a)  b) 

c)  d) 
e) 
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189. In Africa, Tropical grassland Biome is known as _____

a) Savanna b) Ilanos
c) Campes d) Columbia
e) Answer not known
     

a)  b) 
c)  d) 
e) 

190. Expansion of TAAI_____

a) Travel Agents Association of India
b) Travel Agents Annual of India
c) Tamilnadu Agents Association of India
d) None of these
e) Answer not known
TAAI _____

a) Travel Agents Association of India
b) Travel Agents Annual of India
c) Tamilnadu Agents Association of India
d) None of these
e) 

191. The word Tsunami is derived from

a) Hindi b) French
c) Japnese d) German
e) Answer not known
_____
a)  b) 
c)  d) 
e) 

192. Which volcanoe is called “Strato Volcanoes”?

a) Composide cone volcano b) Lavadome Volcano
c) Shield Volcano d) Cinder cone volcano
e) Answer not known

a) 
b) 
c) 
d) 
e) 
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193. Choose the correct pair

a) Mongoloid - East Asia
b) Caucasoid - Australia
c) Negroid - Europe
d) All the above
e) Answer not known

a)   
b)   
c)   
d) 
e) 

194. Which state is called “Sugar Boul of India”?

a) Uttar Pradesh b) Tamilnadu
c) Karnataka d) Punjab
e) Answer not known
“”
a)  b) 
c)  d) 
e) 

195. The major port along the west coast?

a) Kandla b) Chennai
c) Paradip d) Kolkatta
e) Answer not known

a)  b) 
c)  d) 
e) 

196. Identify the false statement

a) Ladakh is called Little Tibet
b) Bhutan is a buffer state between India and China
c) Nepal is a land locked country
d) Only four states of India touch the Nepalese border
e) Answer not known

a) ‘’
b) 
c) 
d) 
e) 
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197. _____ is used in making Electrical Batteries

a) Copper b) Mica
c) Aluminium d) Manganese
e) Answer not known
_____
a)  b) 
c)  d) 
e) 

198. The world’s largest single solar power plant kamuthi spread over an

area of

a) 2500 acre b) 2600 acre
c) 2000 acre d) 1800 acre
e) Answer not known


a)  b) 
c)  d) 
e) 

199. Which type of settlement is found in plain areas and in wide inter -

montane valley

a) Linear pattern b) Rectangular pattern
c) Circular pattern d) Star like pattern
e) Answer not known

a)  b) 
c)  d) 
e) 

200. Match the following :
List I List II

A) Bassein Oilfield 1. Gujarath Coast
B) Digboi Oilfield 2. Western Coast
C) Ankleshwar Oilfield 3. Eastern Coast
D) Rawa Oilfield 4. Brahmaputra Valley


I II
A)   
B)   
C)   
D)   

A B C D A B C D
a) 2 4 1 3 b) 1 2 3 4
c) 2 3 4 1 d) 3 4 1 2
e) 


